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MODEL QUESTIONS

Directions (Q. 1-10): In each of
the questions given below a sentence
is given which is then divided into
five parts, out of which the last part is
correct. There 1s an error in three
parts of the sentence and only part is
correct. You have to choose the
correct part as your answer
1. The NCLT is today admitted (1) /

Videocon Industries under the

Insolvency and  Bankruptcy

Code,(2)/ and the debt-ridden

firm 1s hoped (3)/ that their

lenders will be able (4)/ to
recover up to 80 per cent of the

Rs. 20000-cr debt. (5)

1) The NCLT is today admitted

2) Videocon Industries under the

Insolvency and Bankruptcy
code

3) And the debt-ridden firm is

hoped

4) That their lenders will be able

5) All are incorrect
2. China is being urged India to

support the "One-China policy"

(1) / something that India have

not done (2) / 1in official
documents from 2010 (3) / a
development that has come

following the (4) / improvement
in bilateral ties. (5)
1) China is being urged India to

support  the  "One-China
policy"

2) Something that India have not
done

3) If official documents from
2010

4) A development that has come
following the

Send your Feedback to vidya@sakshi.com

3.

4) All are correct

The Union government is

preparing for drops (1) / its

ambitious planning to set up (2) /

a single higher-education

regulator (3) / to replace existing

regulation (4) / bodies like the

UGC and AICTE.(5)

1) The Union government is
preparing for drops

2) Its ambitious planning to set up

3) A single higher-education reg-
ulator

4) To replace existing regulation

5) All are incorrect

Indian warships have reached the

Pacific island (1) / of Guam with

the first naval exercise (2) /

where that will focus on (3) /

hunting submarines and operate

jointly (4) / with the US and

Japanese forces (5)

1) Indian warships have reached
the Pacific island

2) Of Guam with the first naval
exercise

3) Where that will focus on

4) Hunting  submarines
operate jointly

5) All are incorrect

Metro Shoes has filed a case in

Bombay High Court (1) /

alleging Filpkart being sold a

private  brand(2) / named

Metronaut that is deceptive (3) /

similar to Metro's eponymous

brand, and also alleged that

online retailer is selling shoe (4)

/ among other products under

the brand name. (5)

1) Metro Shoes has filed a case
in Bombay High Court

2) Alleging Flipkart being sold a
private brand

3) Named Metronaut that 1is
deceptive

4) Similar to Metro's eponymous
brand, and also alleged that
online retailer is selling shoe

and
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5) All are incorrect

India's older mobile operators

Bharti Airtel, Vodafone, India

and Idea Cellular have as far (1) /

managed to hold on to - and even
grow - their subscriber market
shares (2) / despite new entrant

Reliance Jio's pricing onslaught

(3) / mainly by acquired (4) /

customers of smaller existing

telcos.(5)

1) India's older mobile operators
Bharati Airte, Vodafone India
and Idea Cellular have as far

2) Manged to hold on to - and
even grow - their subscriber
market shares

3) Despite new entrant Reliance
Jio's pricing onslaught

4) Mainly by acquired

5) All are incorrect

The Reserve Bank's decision to

hike priority sector lending

(PSL) slabs will allow (1) / first-

time home buyer availing (2) /

high loans at better terms (3) /
which in turn will prop in sales

(4) / in the affordable-housing

KEY AND EXPLANATIONS

1) 2;

(The correct sentence is - The
NCLT has today admitted
Videocon Industries under the
Insolvency and Bankruptcy
Code, and the dept-ridden firm
is hopeful that its lenders will be
able to recover up to 80 per cent
of the Rs. 20000-crore debt)

4; (The correct sentence 1S -
China has urged India to
support the "One-China policy,"
something that India has not
done in official documents since
2010, a development that has
come following the
improvement in bilateral ties.)
3; (The correct sentence is - The
Union government is preparing
to drop its ambitious plan to set
up a single higher-education
regulator to replace existing
regulatory bodies like the UGC
and AICTE.)

1; (The correct sentence is -
Indian warships have reached
the Pacific island of Guam for
the first naval exercises her that
will  focus on  hunting

9.

5)

6)

7)
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segment, real-estate experts

said. (5)

1) The Reserve Bank's decision
to hike priority sector lending
(PSL) slabs will allow

2) First-time home
availing

3) High loans at better terms

4) Which in turn will prop in
sales

5) All are incorrect

The intelligence army of (1) / the

indirect tax department has

served notices (2) / to 10 of the
biggest casinos in Goa to evade

(3) / service tax and has simul-

taneous initiative (4) / an inv-

estigation. (5)

1) The intelligence army of

2) The indirect tax department
has served notices

3) To 10 of the biggest casinos in
Goa to evade

4) Service tax and has sim-
ultaneous initiative

5) All are incorrect

Indian handset makers have

asked the government to rational

(1) taxes levy on batteries and

1ssue a clarification that (2) / the

buyer

submarines  and
jointly  with the
Japanese forces.)
5; (Metro Shoes has filed a case
in the Bombay High Court
alleging Flipkart is selling a
private brand named Metronaut
that is deceptively similar to
Metro's eponymons brand, and
also alleged that the online
retailer is selling shoes among
other products under the brand
name.

2; (The correct sentence 1S -
India's older mobile operators
Bharati Airte, Vodafone India
and Idea Cellular have so far
managed to hold to - and even
grow - their subscriber market
shares despite new entrant
Reliance Jio's price onslaught,
mainly by acquiring customers
of smaller existing telcos.

1; (The correct sentence is - The
Reserve Bank's decision to hike
priority sector lending (PSL)
slabs will allow first-time home
buyers to avail higher loans at
better terms, which in turn will

operating
US and

The Reserve Bank's decision to hike..

10.
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9)
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GST on lithium-ion batteries
used in smart phones and
features phone (3) / should be
levied at 12%, on par with the
rate on (4) / parts used to make
mobile phones. (5)

1) Indian handset makers have
asked the government to
rational

2) Taxes levy on batteries and
issued a clarification that

3) The GST on lithium-ion
batteries used in smart phones
and feature phone

4) Should be levied at 12%, on
par with the rate on

5) All are incorrect

Jio's disrupted foray in Sept-

ember 2016 on back of (1) /

freebies leading incumbents
to (2) / offering competitive
tariff (3) / to take up bil-
lionaire (4) / Mukesh Ambani-

backed rival. (5)

1) Jio's disrupted foray in
September 2016 on back of

2) Freebies leading incumbents to

3) Offering competitive tariff

4) To take up billionaire

5) All are incorrect

prop up sales in the affordable-
housing segment, real-estate
experts said.)

2; (The correct sentence is - The
intelligence arm of the indirect
tax department has served
notices to 10 of the biggest
casinos in Goa for evading
service tax and has
simultaneously initiated an
investigation.)

4; (The correct sentence -
Indian handset makers have

asked the government to
rationalise taxes levied on
batteries and 1ssue a

clarification that the GST on
lithium - ion batteries used in
smart phones and feature
phones should be levied at 12%,
on par with the rate on parts
used to make mobile phones.

10) 5; (The correct sentence is -

Jio's  disruptive  foray in
September 2016 on back of
freebies led incumbents to offer
competitive tariff to take on
billionaire Mukesh Ambani-
backed rival.)



